SA ARSI
B S WS 3 SSHBTEANLIE /LT - 1S
Rl MHtHs sEHAH =2E (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
ARSI AR =t 557,625 1,282,475 AT724,850
= 70,000
== 487,625
fhf—,% WS A LHSSEAML /T - ol 392,040 1,108,783 NT16,743
Z
= 70,000
== 322,040
HAUS s=EHA 2E 392,040 1,108,783 AT16,743
= 70,000
< 322,040
AT OrE A 3,000 3,000
202 048l 3,000 3,000
01 2L A 3,000 3,000
O0IME 72 S AR AHEEZH 1,500
O==0l, NSG=H S 488l 1,500
C 2o E SEE(=1) 50,000 56,648 26,648
= 25,000
== 25,000
201 Ler23| 39,400 52,648 A13,248
= 19,700
< 19,700
01 AtR2t2|HI 39,400 52,648 13,248
ontis etdet=2d X3 39,400
= 19,700
= 19,700
202 04| 4,000 4,000 0
= 2,000
S 2,000
01 2LHoIH 4,000 4,000 0
oN-tis Hdet=2d 84 4,000
= 2,000
== 2,000
308 AtXIEMSOIE 6,600 0 6,600
= 3,300
= 3,300
18 SIS AS A 6,600 0 6,600
on-tus ddet=2d 82 6,600
= 3,300
= 3,300
AZ 2OHHHUS SE&d XY(=1) 45,000 46,512 A1,512
= 45,000
308 AtAIEHMSOIE 45,000 46,512 A1,612
= 45,000
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SA ARSI
TU: QY HYUHS 6 ASHSBENLOE /ML - 212S)
Rl MHtHs sEHAH =2E (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 HXSHH B E2ES 45,000 46,512 1,512
OAlZ HHUsS tdet=2d A& 45,000
= 45,000
S=0| HAEEHl K& 15,000 0 15,000
308 XXM SOIA 15,000 15,000
01 AXH B2 LS 15,000 15,000
O2=0| FEX) RU(P2)HHA X 15,000
ANSE A= ot Ed 2 At 14,040 71,700 A57,660
202 04l 14,040 11,700 2,340
01 =LHOHI 14,040 11,700 2,340
OAISY g2 =8 14,040
SO AlEIHA XIE 260,000 500,000 240,000
403 AXIEHMSAH=201d 260,000 500,000 240,000
01 A= 2 260,000 500,000 240,000
O3t Al K& 260,000
SHHOHIIE ¢e0tA3 HIXI € K& 5,000 5,000
403 TR SHMSAH=01H 5,000 5,000
01 AR A= 2 £ 5,000 5,000
OSHHHIIE YH0tAT HIXI & X 5,000
A—l‘i:;c@%_‘?'_i 2 HEN S (SSEMRL AT/ TR - 2 133,446 144,655 A11,209
59
Ol Fo ol 133,446 144,655 A11,209
SENgZZES 243 XA 33,446 44,655 A11,209
201 er23 | 10,200 10,200 0
01 At2teltl 9,000 9,000 0
OSEAMNHZE =AZS XNI&H 9,000
02 S3=gHl 1,200 1,200 0
OSEMNYZE g7 RUHE ME= 1,200
202 04| 22,746 18,955 3,791
01 =LHOLI 22,746 18,955 3,791
OSEAEZZ g5 =X 22,746
305 ia =S 500 500
01 that=S 500 500
OF el S 0l 500
HELIoHA 2SXI& 23t 100,000 100,000
307 el2to| & 100,000 100,000
02 2B YAIHE & 100,000 100,000
OY X UIcHAF NIZSHH At XI& 100,000
Y2 AHI(ALSITHE ) (D1EH/DIEH) 32,139 29,037 3,102
=34 32,139 29,037 3,102
2A29 J1=3l 32,139 29,037 3,102
201 er23 | 22,079 20,204 1,875
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SA: MBI
M HAPAZHI(ALZITHE D) (OIEH/DIE
el JI=23 (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 At2teltl 22,079 20,204 1,875
ORAMEY AtR2clH] 22,079
202 04t 6,460 5,233 1,227
01 =LHOHI 6,460 5,233 1,227
OFMEZ =0 6,460
203 =4l 3,600 3,600
M FA2SHIFII 3,600 3,600
©302! 0Olat 3,600
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